Check Homework #14-23
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Dilutions

Dilution - process of decreasing the
concentration of a solution by adding more
solvent (normally water).



Calculating new concentration after a dilution...

Start with 250. mL of a 0.15 mol/L solution.
100. mL of water is added to dilute the solution.

Which quantity is the same before and after the dilution?
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What would be the concentration of a solution after
diluting 45.0 mL of 4.2 mol/L KOH to 250 mL?
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Sample Problems

How much 0.20 mol/L glucose solution can be made from
50. mL of 0.50 mol/L glucose solution?
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What would be the concentration of a solution made by
adding 250 mL of water to 45.0 mL of 4.2 mol/L KOH?
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Today's Assignment
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